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I RN»2: various scenarios with 2 pieces of meat, one 1MV, the other 25n and both got eaten

a

b

If: Y87w ate one, then " or animal or bird ate other — n%n nwra 17n

i But if: the reverse - exempt; 271 -27n

If: 5% ate 15t awa and 27 Prna —nYn DwR1 27N

i But if: the reverese- exempt; ¥27 — 27n

If: he ate both 111 — exempt

And if: both were eaten awa (by 2 D'9%7v) — both "%n DWR1 27N; not 170 11, but if not, other would seem to deserve nrvn
i Question: this cannot be according to 713, as 2" is 170 in; if 1327, why bring n1v% PN just to avoid misperception?

ii  Answer; this follows 8™, who allows "%n DwR to be brought anytime as naT; he brings 'Ran Yy

II  xpa:if he ate 29N pav, had awareness (of the violation — not the identity of the meat) then ate more

a

b

227 just as MY’ separates for mron, so too he brings multiple 1N Mmnwx
JWHY 772 IYOR 1) AT’ 93 2012 77 one YN DWR, perv.1- all nmw are one
i Nwr’rit was regarding this that »a7 taught that pao my»1 create distinct mxon
ii ~ ~27 doesn’t follow; the rule here is that pav ny»p generates separate %90 MNWR
1 Challenge (»3ax): my>» must make for dinstinct mxon; else, the rule that 19N mnwr:mrovn fails
2 Retort (721 72 837): if mpYnn pao nmy»D, then if he ate 250 N>t before >"nv (:1%n DwR) and 1 after — should be 2n 2
(a) Block (»an): who's to say that 3”nv is 1991 for a sin of which he isn’t aware?
3 Retort (version2): if mpYnn pav my»p, if he ate 25n ™13 on 2”7V in morning, and one in afternoon-should be 2n 2
(a) Block: who's to say that 2”ny is 99910 every minute; perhaps it’s only 1931 over one long period of 24 hours
(b) Save (n7227): Rn»11 — if he had n712ay pav even just before end of 3" — 7931, as every moment is 1931
4 Challenge (8”2 »mx ™): if he ate and drank 'R n5Yna on 5”ny — liable for 2
(a) But: had to be a splt-second between eating and drinking for 511 to be 7931 (:1%n DwWR) — should be 27n 1
(b) Answer: Ry1'Y's statement was 275 (in our mwn): 13127 authored this ruling about 2"y
(c) Challenge: end of that Xn»91 is 27 (implies that ymin is wa) wWn->liable for eating on 2"ny)
(1) Answer: R follows 1317, Ra>0 follows 19
5  Challenge (¥27): n»yn can be an accumulation (of 8"9) even over several years (per v. 2); but that includes 2"nv
(a) Answerl: 3"nv is only 1931 (pHnn) for RMOR; NYYn is fundamentally a x1nn liability
(b) Answer2: 2"n is only 1931 if he violated my*w), not to “break” between half-n» 1w
iii Note: same dispute took place in 17120; $"1::17, 1INV 2::R1T (MRONY MPINN PR PAD MY'T)
1 Note: nkon being model for nwk supports 311 "7’s take; 919, should be ..mNWRY NpHYNn pao Y'Y DVI (RVP)
2 Contradiction: »:~" and 9":~:5", re 1:3 MINY RNovIN — if there were 2 paths, one Mnv and the other rnw:
(a) If: he went on one w/o entering wTpn, then went on the other and entered — 2’n (for wTpn nx»1)
(b) If: he went on the first, entered w1pn — 09; if he then went on 27! and entered —17n
(c) If: he went on the first, went in, went though n%av1 nRrtn then went on 274 and entered —17n
(i) 5”1 even though he had no ny>1; follows YRynw’ "1, who requires no n»nna Ny’
(if) ar12 77 even 11273 — they made ny'1 pav:ny'
1. Resolution of »”1. only in this case is ny*1 pav::NY D, per v. 3 (even NY*T Pav is 1°N); N1INN Y21-v. 4
2. 5. why doesn’t he establish mwn as following »17? (instead of YRynw’ *1?)
3. Answer: teaches that Y9Rynw> "1 also doesn’t require n%nna Ny’
a.  Challenge: that is already explicit in n:2 maw
b. Answer: from there, X*10 that Ykynw> '3 only has nmon; ™ teaches that he has n'pyva as well
(d) w”r exempts in the last case; nT1? 12 W™ reports that v exempted all cases
(i) &7 evenin 1% —if, when he went on 2n9, he forgot he had gone on 1,
1. Dispute: p"n - partial ny»1 is ny»1; w" — need full Ny to be considered awareness
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